" Mathematics
length

Subtract.
a I1m-83cm=_____ _cm 1 d
b) Tm-8cm=_____cm “as ay
el Im=7Z4em=_______CM
d Im-78cm=_____cm
e)] 1Tm-97cm=___.cm
fl Tm=62cm=_____cm
al 2m-190ecm=___cm
n 2m=Imédcm=______.cm
)] 2m-=-1mb&cm= cm
) 3m-2m30cm= cm
Add.
a) 3médcm+25cm = m cm
( 60.cm + 25 cm =85 cm
b) 4m25cm+45cm = m cm
c) 5m74cm+36cm= m cm

J4acm+36cm=110cm
110cm=100cm+ 10cm .




p

Add.
a) Tmdscm+2m75cm= m cm

i 1 m 45 cm —-2"y. 3 m 45 e TL2.EMy, 5 §

¢ 45cm+75cm=120cm

=100cm+20cm L 1Tmd5cm=145cm

2m75cm=275¢cm
| 145cm+275cm=7?

b) 2m&5cm+3m30cm= m cm
c) 3m28cm+4md40cm= m cm
d Tm%Ocm+2m3é6cm= m cm
e) 4md48cm+2m70cm= m cm
Subftract,
a) Tm8Scm=75cm= m cm

. 85cm-75cm=10cm |

b) 3m34cm-75¢cm= m cm

" 3mB34cm=2m134cm
13d4cm-75cm=7?

c) 7m25cm-86cm= m cm

b




Subtract,

a) 4m84cm-2m9%cm= m cm

 4mB84cm—2"M . oms4cm2Sem, 5

'f_;r-2rn84cm=l m184cm (+
L 184cm-95cm=7? | " 4m84cm=484cm
L 2m95cm =295 cm
: 484cm-295cm="7 |

b) ém32cm-2m20cm = m cm
c) 5ma2aS5em-1m40cm= m cm
dl 8m3écm-4m50cm= m cm

Add or subtract. Match the ribbons of the same lengths.

Q) >Im45cm+3m55cm<t -> I0m1lcm-85cm <

b) >3m68cm+2m39cm<0 -> 12m-12cm <

c) >4m4cm+5m12cm<0 °>8m90cm—3m9OCm<

d) )ém40cm+ém7cm{ e » H0Om37 cm-4m30cm(

e) >10m8cm+lm80(:m<- o>13m50cm-—]m3cm<




